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QUESTION 1

If a packet is sent to an IPv6 address and many devices receive the packet, what is this type of traffic? 

A. Multicast 

B. Broadcast 

C. Anycast 

D. Unicast 

Correct Answer: A 

 

QUESTION 2

A VLAN has been configured to have an IPv6 address and a stateless address autoconfiguration for clients. Which IPv6
address prefix will the default gateway have on a client? 

A. fd01::/64 

B. fe08::/64 

C. fe80::/64 

D. ff02::/8 

Correct Answer: C 

 

QUESTION 3

What are Network Address Translation (NAT) inside global addresses? 

A. Addresses used by NAT router when sending frames to devices on the local network 

B. Public IP addresses used by the local network to communicate with the Internet 

C. Private IP addresses used by the local network 

D. Pubic addresses used by other networks outside of the local network 

Correct Answer: B 

 

QUESTION 4

A network administrator is troubleshooting an OSPF routing issue. There are two paths to a destination network from
one switch. In addition, one path is comprised of four 1 Gb links. The other path is comprised of two 1 Gb and two 100
Mb links. The administrator ran several trace routes and notices that the packets are swapping back and forth between
the two paths. 
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Which corrective action must be taken on the switch infrastructure to correct this issue? 

A. Manually specify the OSPF Router ID on each switch within the path. 

B. Break the paths into multiple OSPF areas. 

C. Change the reference speed used by OSPF in cost calculations on all switches within the path. 

D. Switch all routing protocols to RIPv2. 

Correct Answer: C 

 

QUESTION 5

Which Border Gateway Protocol (BGP) version supports IPv6? 

A. BGPng 

B. BGPv2 

C. BGPv3 

D. BGPv4 

Correct Answer: D 
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